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QUESTION 1

What is the standard size of an ESXi boot LUN for a Vblock System 300?
A. 5 gigabytes

B. 15 gigabytes

C. 20 gigabytes

D. 50 gigabytes

Correct Answer: C

QUESTION 2

Which ESXi CLI command is used when installing VIB fles on an ESXi host?
A. esxcfg vib install

B. esxcli system vib install

C. vicfg-module vib install

D. esxcli sofware vib install

Correct Answer: D

QUESTION 3

You are asked to setup several ESXi hosts so that they boot from SAN. Afer completng the second host
and powering it on, the ESXi image becomes corrupt.

What is the cause?

A. The shared LUN is out of space.

B. A path to storage was lost.

C. A port on the Cisco MDS switch was improperly confgured.

D. The two hosts were confgured to share the same boot LUN.

Correct Answer: D

QUESTION 4

Which statement is correct about using VMware Inventory Services?
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A. It tracks virtual machine locatons in the data center.

B. It improves administratve user performance and reduces trafc with the vCenter.
C. It tracks data center objects and performs reports.

D. It improves virtual machine responsiveness.

Correct Answer: B

QUESTION 5

Your client wants space required for the virtual disk to be allocated when the virtual disk is created. Also, any data
remaining on the physical device should not be erased during creaton, but be zeroed out on demand, at a later tme, on
the frst write from the virtual machine. Which storage provision type would you use to meet the client\\'s requirements?
A. thick LUN provisioning, eager zeroing

B. thin LUN provisioning, eager zeroing

C. thin LUN provisioning, lazy zeroing

D. thick LUN provisioning, lazy zeroing

Correct Answer: D
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